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OBJECTIVE: How do we prove that triangles are congruent?

I. Important Statements:

1. Segments can be mapped onto segments IF AND ONLY IF they are =
2. Angles can be mapped onto angles IF AND ONLY IF they are =

Definition of Congruent: Two triangles (or figures) are aid to be congruent IF AND ONLY IF

there is a series of rigid motions that maps the figure onto the other.
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Given two triangles AABC and AA'B'C’ such that mzA = mzA’, AC = A'C', AB = A'B".
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Name the missing corresponding sides and angles

Find a composition of rigid motions to map AABC onto AA'B'C’

[. Some new statements that we can use in a proof:

A An EQUILATERAL triangle has 3 = sides

B. Base angles in an isosceles triangle are =

C. A median of a triangle creates a MIDPOINT on one side of the triangle
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Given AB bisects both 2B#B and 2 B6P

Prove AABD = AABC
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6. Given OM bisects ZLMN, £LOM = +NOM
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- L LOH :"—f L NOM
(M = LA
@ L3 %Y
@]
— A —
; y @M Z o
DAaLMOE A NMO
7. If AD is the perpendicular bisector of BC,
then prove AABD = AACD =
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Given DG & EH bisect each other at F
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